EJERCICIOS DE RADICALES

1.- Sacar factores de;

a) J50 sol:5+/2
b) 243 sol: 9+/3
c) 3125 sol: 254/5
2.- Calcular y simplificar:
a) 72 +J27 + 12 = sol: 6+/3 e) 2-32-42- sol: 2%/2
b) 54312 = sol: 30 f) s\/g-s 1o sol: 3§/Ee
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c) 16 :42 = sol: 2%/2 s)] \/\/@ = sol: &/32
2
d) Y745 = sol: /30 h) V50 +4/2 = sol: 6+/2
3.- Calcular y simplificar:
3 3V7 6
a) —= sol: — d) = sol: 6+/3 +64/2
J7 7 J3-42
5+34/2 543 + 36 3+42
b = sof — e = sol: 337 —3v3++14 -6
S s Y e
0 4 _ sol: 47\/5_6 _ f) a _ sol: a\/§+ a\/E
s 5 Ja++b ' a—b



